-y

Jan Nowak®

Standing Desk

Egon 1100

SCREW ACCESORIES

[ s1 B [s2 J4 53 J4 2 [ s5 B2 ) [s7 B4 (s10p 8 &) x30
_ /\ 3 s tA T
Bmm 3mm M8*16 M5*16 M4*12 M8*25 M4*14
nxz oxz nxz nx1 GXI
nx'l nx'l nxz n x1
n x1 n x1 n x1 n x1 n x1
&=

CONTACT




~([mm_®

M8*16

$
&

emm M8*25

M4*12

1
1
'
0 O« @

A

PLEASE MAKE SURE THE TABLE LEGS ARE VERTICAL TO THE
CONNECTING ROD. AND THEN TIGHTEN ALL SCREWS.




[ & OO® = ]j

?

AFTER THE TABLE IS INSTALLED,
PLEASE PRESS THE RST KEY TO START

donner - - N
ourecycler. Association Magasin Déchéterie

(4 (TTTTT
@ Penseza ﬂ% o o ;g

QUEFAIREDEMESDECHETS.FR



